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03 Al CHI 720 720
O=sU1el DISeSIIAIY (USEH "SI |2
SOIISHHEX A ARSI "0IA)
100,000, 0002 * 1410, 72% 720 0 720
403 XXM S =01 100,000 100,000
02 I 2SS =X E A 100,000 100,000
O=0i1el DISeSIIA (U=SSF AL
L AIEL2THI"Z) Z2% 0 0 100,000 A100,000
HY2H AU (=S F ) (JIEHIIEL) 1,796,456 1,719,776 76,680
el el 1,49, 169 1,434,778 61,391
ol A 1,49, 169 1,434,778 61,391
101 @124d| 1,49, 169 1,434,778 61,391
03 ZRA(PIHY)2EXE > 807,458 746,067 61,391
OsJIH =2l, 28(8Y) 463,538 406,347 57,191
-J|l23 BY 2,972, 74024 x8F* 128 285,384 249,711 3,673
—HESIH
ZE 2,972, 70 *75%+8 L *23] 35,673 31,214 4,459
—&2=4
ZE 2,972, TAOR 508 +23] 23,782 20,810 2,972
PiEl= 11,760 11,040 720
BN ZH 40,0002 +8* 122 3,840 3,360 480
JIEDHE
ZE 20,0002+18H* 122 4,320 4,080 240
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M HAPAZH|(SSLEH2D)(JIEH/IIE
&2l I 2| (EEEE))
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HunsZ
—AN2eI2RsY
ZH 18,4603+ 150%+15A1 28K+ 123 39,8%4 34,907 4,987
—SEZFFE
ZE 146,682 x1500%+8% 15 26,403 23,103 3,300
— RS IteE
23 146,682 x8H 15 17,602 15,402 2,200
—HHSAH|
23 140,000 +8F 122 13,440 11,760 1,680
—uWSE x|
Z& 100,000 +8H 128 9,600 8,400 1,200
OS82 Al 224+Z(=EXT)
23 29,200,000 29,200 25,000 4,200
(224l 300,287 284,998 15,289
Jl=2&Hl 300,287 284,998 15,289
201 Lt 178,629 182,218 /3,589
01 AtR2telbl 90,389 93,978 13,589
OSAEX 7 (ollarE2)
Z& 4,320,000& 4,320 4,800 2480
OS2 oA (oAt E )
Z& 13,608,000 13,608 15,120 1,512
Ogt=2Z (0l A=)
Z& 1,080,000& 1,080 1,200 2120
OARE SHFLHI(0AEY)
Z & 540,000 540 600 B0
OAne s=&l(0aEZ) 8,325 9,250 2925
—SAD =2l (HE)
Z & 900,000 900 1,000 2100
—ZEfH 22 23 225,000 225 250 N5
—SAD EY 23 900,000 900 1,000 A100
—HIglH EU(SH)
23 4,500,000 4,500 5,000 2500
—ZglH EUH(ZH)
Z& 900,000 900 1,000 A100
—PC #=cl 23 360,000 360 400 A40
—JIEF ==cIHl Z& 540,000 540 600 260
OJIEH Ar22eldl (oflatE2t)
Z& 2,160,000 2,160 2,400 A240
Ogzxlg #7 72e L MEHMAEZ) 2,276 2,528 N5
—gaE 37 18 23 720,000 720 800 280
—&7 AME 23 1,556,000 1,556 1,728 AT72
203 PR=&| 10,098 11,220 AT1122
01 J1 228 RFEH| 2,970 3,300 A330
OsgIIsMEAE JI2A2FHRFEHI (0
A 2) Z& 2,970,000 2,970 3,300 A330
02 IR 3,348 3,720 N372
OF oMt F=AH| (0l & B2
Z& 3,348,000 3,348 3,720 N372
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